Class Notes

October 10, 2014
16. 3(2x + 1) =2x + 11 17. 2(2x+5)=5x+5
19.

32x —6)=2(2x+ 1)  20. 3(5x — 2) =4(3x + 6)

18. 4(2x — 3) = 2(3x — 5)

21. 6(1 +2x) =5(3x—1)—4
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11. The Universal Social Charge (USC) rates are given in the table below:

Per year Rate of USC Per week
Upto €10036 2% Up to €193
€10036.01t0€16016 4% €193.01 to €308
In excess of €16 016 7% In excess of €308

Note: Disregard the 1 cent for calculation purposes.

(i) Aidan has an annual salary of €57 000.
Calculate his USC for the year.
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